Model Calibration Worksheet

Consider the simple model calibration problem from the notes. We have n = 5 field ob-
servations in fieldData.txt ([z,y]) and m = 20 computer model runs in simData.txt
([z*,0*,m]). Here the simulator requires a univariate x* and a univariate * to produce a
univariate output n(z*, 6*).

Recall the posterior distribution for # and other model parameters given in the notes.
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For this problem, let’s pretend we know the values of all of the parameters in the posterior
except 6.

p  0.210.95
A, 0.46

A 16

A, 80000

C [0,1]

Code up an MCMC algorithm that samples 6 from this posterior density, holding all of
the other parameters fixed at the values given above. Note that a Metropolis algorithm will

be needed since € appears in the correlation matrix R". What is the posterior mean and
95% interval for 67



